4a. Match each number to its bond to

100.

30 50 After you have matched the number bond,
record them as a number sentence and draw
a bar model to represent them:

50 40
20+80=100

100
60 70 80 20
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5a. Use the ten frame to complete the
number sentences below.

9 4+ = 10

- 10 = 100

6a. Complete the part whole model
below.

20
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Have a go at solving these problems:

5a. Circle the incorrect number sentence
below.

70 + 30 = 100

50 + 40 = 100

100 = 80 + 20

Expla'm why it is incorrect.
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6éa. Anwar spends £100 on two items.
Find all the possible combinations.
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£10

£90

Record the different
combinations as number
sentences.

Which combinations would
not work? Why don’t they
work.



